
Rcxn‡mqxƒ
R0.Uejo

kfvQ
0<¥ƒmncf{

o
cvgo

cvkm{030x{f0X{uqmƒ
šmqnc

ejgo
kemq/vgejpqnqikemƒ

x
Rtc¦g.Rtcjc

42280KUDP
:2/92:2/837/Z

Mpkjw
n¦g

qdlgfpcvxg
x{fcxcvgnuvx‡X̅E

J
V
Rtcjc.jvvr<11x{fcxcvgnuvxk0xuejv0e¦1.g/o

ckn<x{fcxcvgnuvxkB
xuejv0e¦.vgn0<442

665
433

193

Integrály vybraných elementárních funkcí

1.
∫
0 dx = C

2.
∫

k dx = kx+ C , k ∈ R, konstanta

3.
∫

xn dx =
xn+1

n + 1
+ C , n ∈ R, n 6= −1

4.
∫
1

x
dx = ln |x|+ C , x 6= 0

5.
∫

ax dx =
ax

ln a
+ C , a > 0, a 6= 1 specielně

∫
ex dx = ex + C

6.
∫
cosx dx = sin x+ C

7.
∫
sin x dx = − cosx+ C

8.

∫
1

cos2 x
dx = tg x+ C , x 6= (2k + 1)π

2
, k ∈ Z

9.

∫
1

sin2 x
dx = −cotg x+ C , x 6= kπ, k ∈ Z

10.

∫
1√
1− x2

dx = arcsin x+ C , (resp. − arccosx+ C) , x ∈ (−1, 1)

11.

∫
1

1 + x2
dx = arctg x+ C , (resp. −arccotg x+ C)

12.

∫
1√

x2 + a
dx = [ln(x+

√
a + x2)] + C , a 6= 0

13.

∫
f ′(x)

f(x)
dx = ln |f(x)|+ C , f(x) 6= 0 .

Tab. 10.1


	

